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2A: HEXED
3 MISSEANE2E
gelr Hsgsds (St &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
HM=dE0 23,358,481 10,417,179 12,941,302
| 600,980 600,980 0
S 5,234,451 1,071,251 4,163,200
Al 17,523,050 8,744,948 8,778,102
HE2sTANL2Y 23,316,549 10,381,899 12,934,650
| 600,980 600,980 0
[ 5,234,451 1,071,251 4,163,200
Al 17,481,118 8,709,668 8,771,450
HEgsds 21,378,138 8,858,483 12,519,650
| 600,980 600,980 0
S 5,204,451 1,041,251 4,163,200
Al 15,572,707 7,216,257 8,356,450
HegsX 1,468,233 1,361,993 106,240
307 QIztol ™ 1,389,933 1,283,693 106,240
02 QIIHAANSEE R 979,870 873,630 106,240
OH223 2H M2 NES M= Ot2tEN
3 0 0 64,260 N64,260
OHe0s Met=E SIMKUS
300,000,000& 300,000 200,000 100,000
OH108] XB&E =2/ SCHeldItsl
0= 0 31,500 A31,500
OZHAIMES &XX| 28t
7,000,000 7,000 0 7,000
OZHAINZE HEHMSX S XHIIHL R
& 10,000,000& 10,000 0 10,000
OZHAl & E=8 MU
28,000,000 28,000 0 28,000
O el S2mal 7,000,000 7,000 0 7,000
OH602] 8SE2MSEUH SHA S8
A& & AlHl XIA 50,000,000& 50,000 0 50,000
HEgsId(Ex) 37,000 0 37,000
S 37,000 0 37,000
307 212t01 & 37,000 0 37,000
== 37,000 0 37,000
02 QIRHHAANGE R 37,000 0 37,000
©20234 LHAIHESHSESIZHY thal(FS
A AESO) 8,000,000& 8,000 0 8,000
(= 8,000 0 8,000
OHI198] SAZRHSIEH S50 ZFRUEI(
FIM AMESQ) 2,000,000& 2,000 2,000
(= 2,000 2,000
ON2g] ZHACLHSUHE (FEE MBS
el 6,000,000& 6,000 6,000
(= 6,000 6,000
OHNI1538] NBHEERHIIE S50 =M
SFZE ALBS2!) 2,000,000 2,000 0 2,000




2A: HEXED
M HRSLNE2Y
gelr Hsgsds (St &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
(= 2,000 0 2,000
OH73] ZHAEHH S5 HEH F
CHal 8,000,000& 8,000 8,000
(= 8,000 8,000
ON243] AIRIEH2 3 S50 SF0U2
2,000,000& 2,000 2,000
= 2,000 2,000
02023 ZHAIEFE3I & 203
4,000,000& 4,000 4,000
S 4,000 0 4,000
020288 SEAE=ZY A MEHE
5,000,000& 5,000 0 5,000
S 5,000 0 5,000
HSAE BS(2X) 120,000 0 120,000
= 70,000 0 70,000
Al 50,000 0 50,000
401 AIEHIZL R OHYI 120,000 0 120,000
S 70,000 0 70,000
Al 50,000 0 50,000
01 A&l 120,000 0 120,000
020288 A2 MEHSAE ZLAXJA(SL
HMESE 2 IL)(FZE AHBS2)
20,000,000& 20,000 20,000
= 20,000 20,000
OR2I0I2 M0l A2s BH=x AR
=& ZEAY 100,000,000& 100,000 0 100,000
(= 50,000 0 50,000
Al 50,000 0 50,000
AEEOAE XA 33,250 28,250 5,000
301 Et2EZ 5,000 0 5,000
14 DBt 23 5,000 0 5,000
OTAEE HWE MMEl X L QHEIE
(= 5,000,000 5,000 0 5,000
d= & = B i =X 500,000 550,000 250,000
307 212+01& 500,000 550,000 A50,000
02 QA LAEE X 500,000 550,000 /50,000
OH243| =250 Y &I M=5IUE
0& 0 50,000 A50,000
d=2 2 T o2l e |RIU(ER) 251,960 50,000 201,960
= 106,200 50,000 56,200
Al 145,760 0 145,760
307 212t01 & 251,960 50,000 201,960
= 106,200 50,000 56,200
Al 145,760 0 145,760
02 QIRHEAAIHE L 251,960 50,000 201,960




=M HSTED
Za: HSESUNLSY
o9l NSHSAE (crel: g)
SN - BE - SA(B) - NRAY - BES 0 & ol o HIRE2
OXi3E HASE HAT SO E (FEH
N 10,000, 0002 0,000 0 10,000
= 10,000 0 10,000
OH108 XIBHU 2R ECH210) ]
41,500,002 41,500 0 41,500
= 10,000 0 10,000
Al 31,500 0 31,500
ONI25] AHAMZ NBH M20HE (3]
74,260,0002! 74,260 0 74,260
= 10,000 0 0,000
Al 64,260 0 64,260
ONI135] DBLSLFBI| H2ET3]
7,000,0002 7,000 0 7,000
= 7,000 0 7,000
OH243| 2EDHY 5|FI| 2613|043
69,200,0002 69,200 0 69,200
= 19,200 0 19,200
Al 50,000 0 50,000
R 26,450 6,000 20,450
201 Yur2gy| 14,000 3,000 11,000
01 Al 22l 14,000 3,000 11,000
OEEES=1] 14,000 3,000 11,000
OZOIXTNY HPEX S
14,000, 0002 14,000 3,000 11,000
202 it 12,450 3,000 9,450
NETEE 12,450 3,000 9,450
OSUHENR 4= S
12,450, 0002 12,450 3,000 9,450
NBE SHBH O2H S22 () 4,079,000 0 4,079,000
401 Al&HIZ S CHY] 4,079,000 0 4,079,000
01 Al 4,068,000 0 4,068,000
ONZH HZH U2 S 2
4,068,000, 0002 4,068,000 0 4,068,000
03 Al& =CHHI 11,000 0 11,000
ONBH HZH U2 S 2
11,000,002 11,000 0 11,000
MBUNE FOIWSUEH AY(2X) 8,000,000 0 8,000,000
= 4,000,000 0 4,000,000
Al 4,000,000 0 4,000,000
401 Al&HIZ S CHY] 8,000,000 0 8,000,000
< 4,000,000 0 4,000,000
Al 4,000,000 0 4,000,000
01 Al 8,000,000 0 8,000,000
MEUNS OSME A
8,000,000,0002 8,000,000 0 8,000,000




2A: Msas
M MNSESLANE2Y
gelr Hsgsds (St &)
M- - SA(3) - MRAY - BES Ofl kel | & A Hlns
(= 4,000,000 0 4,000,000
Al 4,000,000 0 4,000,000
SIHSAE 2 1,938,411 1,523,411 415,000
[ 30,000 30,000 0
Al 1,908,411 1,493,411 415,000
HEANE 222 820,608 775,608 45,000
405 XHAHE SH| 63,200 18,200 45,000
01 AL SEFSH| 63,200 18,200 45,000
OZTHIZ 1€ FIIXE 2L
45,000,000 45,000 0 45,000
HSAE X2 833,623 533,623 350,000
401 AlEHIL 2] 710,200 360,200 350,000
01 Al&HI 708,000 358,000 350,000
OZ2EZEME XS I2 DA SAF
293,000,000 293,000 13,000 280,000
OZ2AHEMEl A Z2SHE3E o= &
X = 20,000,0002! 20,000 0 20,000
OANDSSHS22 W ZHAIE 24 ZA
65,000,000 65,000 15,000 50,000
ZoeIR S 22l 62,670 42,670 20,000
401 AlEHI L] 20,000 0 20,000
01 Al&HI 20,000 0 20,000
OZeIMSs2 29 LH SEZIA
20,000,000 20,000 0 20,000
NELU=S FOIFAHMA(EE) 30,000 30,000 0
(= 30,000 30,000 0
401 AlEHI L] 0 30,000 30,000
[ 0 30,000 30,000
01 Al&HI 0 30,000 30,000
OLES FOXNSAIE DA 4]
0 10,000 10,000
(= 10,000 10,000
OZHAl S48 Hs2 AlE Fdl
0 0 20,000 A20,000
(= 0 20,000 A20,000
402 BIZIXH=0| & 30,000 0 30,000
(= 30,000 0 30,000
02 QI XHEB AL E (01 FTHS) 30,000 0 30,000
COLES FeNSAIE DM 4
10,000,000& 10,000 0 10,000
(= 10,000 10,000
OZHAl S4E3 Ms2 AlE |
20,000,000 20,000 0 20,000
[ 20,000 0 20,000
MY 2IAH(MSIED) 34,380 35,280 2900
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